
Orlaco Products - P.O. Box 193 - 3770 AD Barneveld - The Netherlands
Phone: +31 (0) 342 404 555 - Fax: +31 (0) 342 404 556 - E-mail: info@orlaco.nl - Internet: www.orlaco.com

Article No. 0303740

ProductD A T A

Cable trailer 25 m4F h10M mount

Data sheet  No.  DS0303740 
EN 2013 •  R2-7



Installation

Dimensions

Cable trailer 25 m4F h10M mount
Article number 	 0303740
Length	 25m.
Cable	 Art. No. 1220110, Multi cable 1 x coax + 2 x power, 1 x data.
Connectors	 10 pins male connector with protection cap, grey, and 4pins female molded connector.
Mounting hardware	 Rubber isolation, 4 x head cap screws M5 x 35, 8 x spring washers B5, 4 x hex nuts M5.
Operating temperature	 -40ºC ... +85ºC
Weight	 1,98kg.
Protection	 IP 67 according to IEC 60529 & vibration proof.
Kit assembly	 To complete the Kit use articles 0304020 and 0303630.

41

2 3

6 7 8 9 10

1 2 3 4 5

Female

1 2 3 4 5

6 7 8 9 10

Male

Molded connector
female 

Mounting housing with
male insert 10pins
4 x Hex socket head cap screw M5 x 35
1 x Isolation plate rubber
8 x Spring washer B5
4 x Hex nut M5 stainless steel

110

Art no 1220110
25m multi cable

To camera

94
82

40 52

Label 1

Label 2

0303710

    (Place for BARCODE)

YM

CAMERA-END

Label 1
Label 2

Connectors

Front side
Molded female
connector

	 1 = Coax core 	 = video signal
	 2 = Coax screen 	 = video GND
	 3 = Red 	 = 12V/DC
	 4 = Black 	 = 0V
	 5 - 9 =	 = N.C.
10 	 = Shield

Truck

To Display

To camera
Art. no 0304020

Art. no 0303630

Art. no 0303740

Trailer

pin layout
10p male connector

Technical Specifications

www.orlaco.com
All data subject to change without notice. All dimensions are for commercial purpose only. The camera/display 
systems from Orlaco comply with the latest CE, ADR, EMC and mirror-directive regulations. All products are
manufactured in accordance with the ISO 9001 quality management system, ISO/TS16949 quality automotive, 
ISO 14001 environmental management systems and all Ex products with the IECEx scheme and ATEX directives.


